

OPTIMAL WEIGHTED GEOMETRIC MEAN BOUNDS OF CENTROIDAL AND HARMONIC MEANS FOR CONVEX COMBINATIONS OF LOGARITHMIC AND IDENTRIC MEANS

LADISLAV MATEJÍČKA

ABSTRACT. In this paper, optimal weighted geometric mean bounds of centroidal and harmonic means for convex combination of logarithmic and identric means are proved. We find the greatest value $\gamma(\alpha)$ and the least value $\beta(\alpha)$ for each $\alpha \in (0, 1)$ such that the double inequality:

 $C^{\gamma(\alpha)}(a,b)H^{1-\gamma(\alpha)}(a,b) < \alpha L(a,b) + (1-\alpha)I(a,b) < C^{\beta(\alpha)}(a,b)H^{1-\beta(\alpha)}(a,b)$

holds for all a, b > 0 with $a \neq b$. Here, C(a, b), H(a, b), L(a, b), and I(a, b) denote centroidal, harmonic, logarithmic and identric means of two positive numbers a and b, respectively.

1. INTRODUCTION

Recently, means have been the subject of intensive research. In particular, many remarkable inequalities for the centroidal, harmonic, logarithmic and identric means can be found in the literature [4],[12],[13].

We recall some definitions.

The centroidal, harmonic, logarithmic, identric, and weighted geometric means of two positive real numbers $a, b, a \neq b$, are defined, respectively, as follows:

$$C(a,b) = \frac{2(a^2 + ab + b^2)}{3(a+b)},$$
$$H(a,b) = \frac{2ab}{(a+b)},$$
$$L(a,b) = \frac{a-b}{\log a - \log b},$$

Date: April 11, 2015 and, in revised form, June 2, 2016.

²⁰⁰⁰ Mathematics Subject Classification. 26D15.

Key words and phrases. Convex combinations bounds; centroidal mean; harmonic mean; weighted geometric mean; logarithmic mean; identric mean.

The work was supported by VEGA grant No. 1/0385/14. The author thanks to the faculty FPT TnUAD in Púchov, Slovakia for its kind support and he is deeply grateful to the unknown reviewer for his valuable remarks and suggestions.

$$I(a,b) = \frac{1}{e} \left(\frac{a^a}{b^b}\right)^{\frac{1}{(a-b)}},$$
$$G_{\alpha}(a,b) = a^{\alpha} b^{1-\alpha} \quad \text{for} \quad 0 \le \alpha \le 1$$

Means have many applications not only in mathematics, but in physics, economics, meteorology, etc. (see for example [5], [8], [9]).

It is well-known that the following inequalities hold:

(1.1) $H(a,b) < L(a,b) < I(a,b) < C(a,b) \text{ for positive } a \neq b.$

In the paper [4], authors inspired by (1.1), proved the following theorems:

Theorem 1.1.

(1.2) $\alpha_1 C(a,b) + (1-\alpha_1)H(a,b) < L(a,b) < \beta_1 C(a,b) + (1-\beta_1)H(a,b)$ holds for all a, b > 0, with $a \neq b$ if and only if $\alpha_1 \le 0, \beta_1 \ge 1/2$.

Theorem 1.2.

(1.3)
$$\alpha_2 C(a,b) + (1-\alpha_2)H(a,b) < I(a,b) < \beta_2 C(a,b) + (1-\beta_2)H(a,b)$$

holds for all $a, b > 0$, with $a \neq b$ if and only if $\alpha_2 \le 3/(2e) = 0.551819$, $\beta_2 \ge 5/8$.

Similar double inequality was proved by Alzer and Qiu [1]:

 $(1.4) \qquad \alpha A(a,b) + (1-\alpha_2)G(a,b) < I(a,b) < \beta A(a,b) + (1-\beta)G(a,b)$ holds for all a, b > 0, with $a \neq b$ if and only if $\alpha \leq 2/3, \ \beta \geq 2/e = 0.73575.$

In the paper [7] the double inequality

 $\begin{array}{ll} (1.5) \ \lambda C(a,b) + (1-\lambda)H(a,b) < L^{\alpha}(a,b)I^{1-\alpha}(a,b) < \Delta C(a,b) + (1-\Delta)H(a,b) \\ \text{holds for all } a,b > 0 \ \text{with } a \neq b \ , \ \alpha \in \ (0,1 > \text{if and only if } \lambda(\alpha) \leq 0 \ \text{and} \\ \Delta(\alpha) \geq (5-\alpha)/8. \end{array}$

From results of (1.1), it is natural to ask what is the greatest function $\gamma(\alpha)$, and the least function $\beta(\alpha)$, for $0 \le \alpha \le 1$ such that the double inequality:

$$C^{\gamma(\alpha)}(a,b)H^{1-\gamma(\alpha)}(a,b) < \alpha L(a,b) + (1-\alpha)I(a,b) < C^{\beta(\alpha)}(a,b)H^{1-\beta(\alpha)}(a,b)$$

holds for all a, b > 0 with $a \neq b$. The purpose of this paper is to find the optimal functions $\beta(\alpha)$, $\gamma(\alpha)$. For some other details about means, see [1]-[13] and the related references cited there in.

2. Main Results

Lemma 2.1. The following inequalities are valid:

(2.1)
$$d(t) = \frac{-2 - 9t + t^2 - t^3 + 9t^4 + 2t^5}{1 + 5t + 12t^2 + 12t^3 + 5t^4 + t^5} - \ln t > 0,$$

for 0 < t < 1.

(2.2)
$$v(t) = \frac{2}{3t}(1 - t + t^2 - 3t^3) - \ln^2(t) > 0,$$

for $0 < t \le 0.5$.

$$l(t) = \frac{2}{3t}(1 - t + t^2 - 3t^3)(1 + 8t + 6t^2 + 8t^3 + t^4) + (1 - t^2)t(1 + 4t + t^2)\ln(t) - (2.3) \qquad (1 - t^2)(1 + t + t^2) < 0,$$

for $0 < t \le 0.3$. (2.4) $m(t) = (1 + 8t + 6t^2 + 8t^3 + t^4) \ln(t) + (1 - t^2)(1 + 4t + t^2) < 0$, for 0 < t < 1. (2.5) $p(t) = \frac{2 + 3t - 6t^2 + t^3}{6t} + \ln(t) > 0$, for 0 < t < 1.

for $0.3 \le t < 1$.

Proof. If we show that d'(t) < 0 for 0 < t < 1 then (2.1) will be proved because of d(1) = 0. Some calculation gives d'(t) < 0 is equivalent to

$$-1 - 9t + t^2 + 38t^3 + 8t^4 - 74t^5 + 8t^6 + 38t^7 + t^8 - 9t^9 - t^{10} < 0.$$

It can be rewritten as

$$(1-t)^4(1+13t+45t^2+68t^3+45t^4+13t^5+t^6) > 0.$$

So the proof of (2.1) is complete.

To show that (2.2) it suffices to prove v'(t) < 0 because of v(0.5) = 0.0195. From

$$v'(t) = \frac{2}{3t^2}(-1+t^2-15t^3) - \frac{2\ln(t)}{t}$$

we have v'(t) < 0 is equivalent to

$$v_1(t) = \frac{1}{3t}(-1+t^2-15t^3) - \ln(t) < 0.$$

Some calculation gives $v'_1(t) = 0$ only for one positive root $t_1 = 0.2297$ from (0, 1). $v_1(0.5) = -1.0569, v_1(0^+) = -\infty, v_1(0.2297) = -0.1674$ imply v'(t) < 0, so v(t) > 0 for $0 < t \le 0.5$.

(2.3) is equivalent to

$$l_1(t) = 3\ln(t) + \frac{-1 + 11t - 2t^2 + 17t^3 - 47t^4 - 22t^5 - 46t^6 - 6t^7}{t + 4t^2 - 4t^4 - t^5} < 0.$$

Because of $l_1(0.3) = -0.2368$ it suffices to show that $l'_1(t) > 0$.

$$l'_1(t) > 0$$
 is equivalent to

$$l_{2}(t) = 3(t + 4t^{2} - 4t^{4} - t^{5})^{2} + t(11 - 4t + 51t^{2} - 188t^{3} - 110t^{4} - 276t^{5} - 42t^{6}) \times (t + 4t^{2} - 4t^{4} - t^{5}) + t(-1 + 11t - 2t^{2} + 17t^{3} - 47t^{4} - 22t^{5} - 46t^{6} - 6t^{7}) \times (1 + 8t - 16t^{3} - 5t^{4}) > 0.$$

Some calculations give $l_2(t) > 0$ is equivalent to

$$l_3(t) = 1 + 11t - 22t^2 + 22t^3 + 90t^4 - 758t^5 + 500t^6 - 1002t^7 + 609t^8 - 565t^9 - 50t^{10} + 12t^{11} > 0.$$

Using $-1002t^7 > -1002(0.3)^7 = -0.2191374, -565t^9 > -565(0.3)^9 = -0.011120895, -50t^{10} > -50(0.3)^{10} = -0.000295245$ we obtain

$$l_3(t) > l_4(t) = 0.76944646 + 11t - 22t^2 + 22t^3 + 90t^4 - 758t^5 + 500t^6.$$

From

$$l_4''(t) = -44 + 132t + 1080t^2 - 15160t^3 + 15000t^4$$

and $t^4 < 0.3 t^3$ we have

$$l_4''(t) < l_5(t) = -44 + 132t + 1080t^2 - 10660t^3.$$

Roots of $l'_5(t) = 132 + 2160t - 31980t^2 = 0$ are $t_1 = 0.1064$, $t_2 = -0.0388$. From $l_5(0) = -44$, $l_5(0.3) = -195.02$, $l_5(0.1064) = -30.5691$ we have $l''_4(t) < 0$. From $l_4(0) = 0.76944646$, $l_4(0.3) = 1.9350$ we obtain $l_3(t) > 0$ and the proof of (2.3) is complete. m(t) < 0 is equivalent to

$$n(t) = \ln(t) + \frac{(1-t^2)(1+4t+t^2)}{1+8t+6t^2+8t^3+t^4} < 0.$$

Because of n(1) = 0 it suffices to show that n'(t) > 0. n'(t) > 0 is equivalent to

$$n_1(t) = 1 + 12t + 64t^2 + 52t^3 + 30t^4 + 16t^5 + 52t^6 + 34t^7 + 9t^8 > 0,$$

which is evident.

Using
$$\ln(t) = -\sum_{n=1}^{\infty} \frac{(1-t)^n}{n}$$
 we obtain
 $\ln(t) > 1 - t + \frac{(1-t)^2}{2} + \frac{(1-t)^3}{3t} = -\frac{2+3t-6t^2+t^3}{6t}$

so the proof of (2.5) is complete.

q(t) < 0 is equivalent to

$$q_1(t) = \ln(t) + \frac{8 + 25t + 31t^2 - 6t^3 - 20t^4 + 4t^5}{2 + 21t + 51t^2 + 38t^3 + 36t^4 - 3t^5 - t^6} > 0.$$

Because of $q_1(0.3) = 0.0620$ it suffices to show that $q'_1(t) > 0$. $q'_1(t) > 0$ is equivalent to

$$q_2(t) = 4 - 64t - 47t^2 + 722t^3 + 877t^4 + 92t^5 + 1398t^6 + 2860t^7 + 1358t^8 - 226t^9 - 103t^{10} + 10t^{11} + t^{12} > 0.$$

Evidently

$$q_2(t) > q_3(t) = 4 - 64t - 47t^2 + 722t^3 + 877t^4 + 92t^5 > q_4(t) = 4 - 64t - 47t^2 + 993.38t^3 + (q > 0.3).$$

From $q_4''(t) = -94 + 5960.2t$ and $q_4''(0.3) = 1694.1$ we have $q_4''(t) > 0$. It implies $q_4'(t) = -64 - 94t + 2980.1t^2 > 0$ because of $q_4'(0.3) = 176$. So the proof of our lemma is complete.

Theorem 2.1. The double inequality

 $\begin{array}{l} (2.7)\\ C^{\gamma(\alpha)}(a,b)H^{1-\gamma(\alpha)}(a,b) < \alpha L(a,b) + (1-\alpha)I(a,b) < C^{\beta(\alpha)}(a,b)H^{1-\beta(\alpha)}(a,b)\\ holds \ for \ all \ a,b \ > \ 0 \ with \ a \ \neq \ b \ , \ \alpha \ \in \ (0,1 \ > \ if \ and \ only \ if \ \beta(\alpha) \ \ge \ 1 \ and \ \gamma(\alpha) \le \frac{5-\alpha}{8}. \end{array}$

Proof. Suppose a,b>0 with a>b , $\alpha\in(0,1),\,t=b/a<1.$ Using

$$\frac{C(a,b)}{a} = \frac{2(1+t+t^2)}{3(1+t)}, \quad \frac{H(a,b)}{a} = \frac{2t}{1+t},$$
$$\frac{L(a,b)}{a} = \frac{1-t}{-\ln t}, \quad \frac{I(a,b)}{a} = \frac{1}{et^{\frac{t}{1-t}}}$$

80

we can write inequality (2.7) in the form

$$\left(\frac{2(1+t+t^2)}{3(1+t)}\right)^{\gamma(\alpha)} \left(\frac{2t}{1+t}\right)^{1-\gamma(\alpha)} < \alpha \left(\frac{1-t}{-\ln t}\right) + (1-\alpha) \left(\frac{1}{et^{\frac{t}{1-t}}}\right) < \left(\frac{2(1+t+t^2)}{3(1+t)}\right)^{\beta(\alpha)} \left(\frac{2t}{1+t}\right)^{1-\beta(\alpha)}.$$

Then the previous inequality can be rewriting as

$$\begin{split} \gamma(\alpha)\ln\left(\frac{1+t+t^2}{3t}\right) < \ln\left(\left(\alpha\frac{1-t^2}{-\ln(t)} + (1-\alpha)\left(\frac{1}{et^{\frac{t}{1-t}}}\right)\right)\left(\frac{1+t}{2t}\right)\right) < \\ \beta(\alpha)\ln\left(\frac{1+t+t^2}{3t}\right). \end{split}$$

Denote

(2.8)
$$a(t,\alpha) = \alpha \frac{(1-t^2)}{-2t\ln t} + (1-\alpha)\frac{1+t}{2et^{\frac{1}{1-t}}},$$

(2.9)
$$b(t) = \frac{1+t+t^2}{3t},$$

for $0 < t < 1, 0 \le \alpha \le 1$.

We show that

(2.10)
$$g(t,\alpha) = \frac{\ln(a(t,\alpha))}{\ln(b(t))} = \frac{\ln\left\{\left(\alpha\frac{(1-t)}{-\ln t} + (1-\alpha)\frac{1}{et^{\frac{t}{1-t}}}\right)\left(\frac{1+t}{2t}\right)\right\}}{\ln\left(\frac{1+t+t^2}{3t}\right)}$$

is a decreasing function on 0 < t < 1, for each α such that $0 < \alpha \leq 1$.

It implies $\gamma(\alpha) = \lim_{t \to 0^+} g(t, \alpha)$ and $\beta(\alpha) = \lim_{t \to 1^-} g(t, \alpha)$ for each α such that $0 < \alpha \leq 1$, and the theorem will be proved. The monotonicity of $g(t, \alpha)$ will be done, if we prove

(2.11)
$$\frac{\partial g(t,\alpha)}{\partial t} = \frac{\ln(b(t))}{a(t,\alpha)} \frac{\partial a(t,\alpha)}{\partial t} - \frac{b'(t)}{b(t)} \ln(a(t,\alpha)) < 0$$

on 0 < t < 1, for each α such that $0 < \alpha \leq 1$. Simple calculations give:

(2.12)
$$b'(t) = \frac{t^2 - 1}{3t^2} < 0,$$

for 0 < t < 1 and (2.13)

$$\frac{\partial a(t,\alpha)}{\partial t} = \frac{\alpha}{2} \left(\frac{(1+t^2)\ln(t) + 1 - t^2}{t^2\ln^2 t} \right) + \frac{1-\alpha}{2e} \left(\frac{-1+t-t^2+t^3 - (1+t)t\ln(t)}{t(1-t)^2t^{\frac{1}{1-t}}} \right)$$

for $0 < t < 1, 0 \le \alpha \le 1$. It is evident that $\frac{\partial g(t,\alpha)}{\partial t} < 0$ is equivalent to $H(t,\alpha) < 0$, where

(2.14)
$$H(t,\alpha) = b(t)\frac{\partial a(t,\alpha)}{\partial t}\ln(b(t)) - b'(t)a(t,\alpha)\ln(a(t,\alpha))$$

for $0 < t < 1, 0 < \alpha \le 1$.

``

It suffices to show that H(t,0) < 0, H(t,1) < 0 because of

(2.15)
$$\frac{\partial^2 H(t,\alpha)}{\partial \alpha^2} = -\frac{b'(t)\frac{\partial a(t,\alpha)}{\partial \alpha}^2}{a(t,\alpha)} > 0.$$

First we prove

(2.16)
$$H(t,0) < 0, \quad H(t,1) < 0$$

for 0 < t < 1. H(t, 0) < 0 is equivalent to

$$G(t) = \frac{(1+t+t^2)(-1+t-t^2+t^3-(1+t)t\ln t)}{(1+t)^2(1-t)^3}\ln\left(\frac{1+t+t^2}{3t}\right) + \ln\left(\frac{1+t}{2et^{\frac{1}{1-t}}}\right) < 0.$$

If we show G'(t) > 0 then the proof H(t, 0) < 0 will be done because of G(1) = 0. G'(t) > 0 is equivalent to

$$\left\{\frac{-1-4t+t^2-t^3+5t^4}{1-t^2} - \frac{(1+4t+6t^2+4t^3)\ln(t)}{1-t^2} + (2.17) + (1+t^2-t^3-t^5+(t+2t^2+2t^3+t^4)\ln t)(-1-5t)\right\}, \quad (1+t+t^2-t^3-t^5+(t+2t^2+2t^3+t^4)\ln t)(-1-5t)$$

$$\frac{(1+t^2-t^3-t^5+(t+2t^2+2t^3+t^4)\ln t)(-1-5t)}{(1-t)^2(1+t)^2}\bigg\}\ln\left(\frac{1+t+t^2}{3t}\right) > 0.$$

(2.17) is equivalent to

$$d(t) = \frac{-2 - 9t + t^2 - t^3 + 9t^4 + 2t^5}{1 + 5t + 12t^2 + 12t^3 + 5t^4 + t^5} - \ln t > 0.$$

It follows from Lemma 1.

Now we show H(t, 1) < 0. H(t, 1) < 0 is equivalent to

(2.18)
$$(1+t+t^2)\left[(1+t^2)\ln(t)+1-t^2\right]\ln\left(\frac{1+t+t^2}{3t}\right) - (2.18) \qquad (1-t^2)^2\ln(t)\ln\left(\frac{1-t^2}{-2t\ln(t)}\right) < 0.$$

Denote

$$r(t) = \frac{(1+t+t^2)\left[(1+t^2)\ln(t)+1-t^2\right]}{(1-t^2)^2\ln(t)}\ln\left(\frac{1+t+t^2}{3t}\right) - \ln\left(\frac{1-t^2}{-2t\ln(t)}\right).$$

H(t, 1) < 0 will be proved if we show r'(t) < 0 because of $r(1^-) = 0$. Some calculations give r'(t) < 0 is equivalent to

$$\left\{ \left[(1-t^4)(t+2t^2) + (1-t^2)(2t^2+2t^3+2t^4) + (1+t+t^2)(4t^2+4t^4) \right] \ln^2(t) + (1-t^2) \left[(1-t^2)(t+2t^2) + (1-t^2)(1+t+t^2) + (1+t+t^2)(3t^2-1) \right] \ln(t) \right\}$$

(2.19)
$$-(1+t+t^2)(1-t^2)^2 \left\{ \ln\left(\frac{1+t+t^2}{3t}\right) < 0. \right\}$$

From (2.19) we have that it suffices to show

 $\left[t + 8t^{2} + 6t^{3} + 8t^{4} + t^{5}\right]\ln^{2}(t) + (1 - t^{2})\left(t + 4t^{2} + t^{3}\right)\ln(t) - t^{2}\left(t + 4t^{2} + t^{3}\right)\ln(t) + (1 - t^{2})\left(t + 4t^{2} + t^{3}\right)\ln(t) + t^{2}\left(t + t^{3}\right)\left(t + t^{3$

(2.20)
$$(1+t+t^2)(1-t^2) < 0.$$

(2.19) is following from Lemma 1.

Now we find the functions $\gamma(\alpha)$, $\beta(\alpha)$. We have

(2.21)
$$\beta(\alpha) = \lim_{t \to 0^+} \frac{\ln(a(t,\alpha))}{\ln(b(t))} = \lim_{t \to 0^+} \frac{\frac{\partial a(t,\alpha)}{\partial t}b(t)}{a(t,\alpha)b'(t)},$$

(2.22)
$$\gamma(\alpha) = \lim_{t \to 1^-} \frac{\ln(a(t,\alpha))}{\ln(b(t))} = \lim_{t \to 1^-} \frac{\frac{\partial a(t,\alpha)}{\partial t}b(t)}{a(t,\alpha)b'(t)},$$

(2.21) can be rewriting as

$$\beta(\alpha) = \lim_{t \to 0^+} \frac{\alpha e(1-t)^2 t^{\frac{1}{1-t}} \left[(1+t^2) \ln(t) + 1 - t^2 \right]}{\left(\alpha e(1-t^2) t^{\frac{1}{1-t}} - (1-\alpha) t(1+t) \ln(t) \right) \ln(t)} +$$

(2.23)
$$\frac{(1-\alpha)\left[-1+t-t^2+t^3-(1+t)t\ln(t)\right]t\ln(t)}{\left(\alpha e(1-t^2)t^{\frac{1}{1-t}}-(1-\alpha)t(1+t)\ln(t)\right)}.$$

(2.23) can be rewriting as

$$\beta(\alpha) = \lim_{t \to 0^+} \frac{\frac{\alpha e(1-t)^2 t^{\frac{1}{1-t}}(1+t^2)}{t \ln(t)} + \frac{\alpha e(1-t)^2 (1-t)^2 t^{\frac{1}{1-t}}}{t \ln^2(t)} + (1-\alpha)(-1+t-t^2+t^3-(1+t)t \ln t)}{\frac{\alpha e(1-t^2) t^{\frac{1}{1-t}}}{t \ln(t)} - (1-\alpha)(1+t)}$$

It implies $\beta(\alpha) = 1$.

Similarly (2.22) can be rewriting as

$$\begin{split} \gamma(\alpha) &= \lim_{t \to 1^{-}} \frac{3}{(1-t)^3 (1+t)^2} \left[\frac{\alpha e(1-t)^2 t^{\frac{1}{1-t}} \left[(1+t^2) \ln(t) + 1 - t^2 \right]}{\left(\alpha e(1-t) t^{\frac{1}{1-t}} - (1-\alpha) t \ln(t) \right) t \ln(t)} + \right. \\ &\left. \frac{(1-\alpha) \left[-1 + t - t^2 + t^3 - (1+t) t \ln(t) \right] \ln(t)}{\left(\alpha e(1-t^2) t^{\frac{1}{1-t}} - (1-\alpha) t \ln(t) \right)} \right] = \\ &\left. \lim_{t \to 1^{-}} \frac{3}{4(1-t)^3} \left\{ \frac{\frac{\alpha e(1-t)^2 t^{\frac{1}{1-t}} ((1+t^2) \ln(t) + 1 - t^2)}{\ln(t)} - (1-\alpha)(1-t)(1+t^2) \ln t - (1-\alpha)(1+t) t \ln^2 t}{\alpha e(1-t) t^{\frac{1}{1-t}} - (1-\alpha) t \ln(t)} \right\} \right] \end{split}$$

Using the following equations:

$$\begin{split} 1+t^2&=2-2(1-t)+(1-t)^2,\\ \alpha e(1-t)t^{\frac{1}{1-t}}-(1-\alpha)t\ln(t)&=(1-t)(1+(1-t)f(t,\alpha)),\\ \ln^2(t)&=(1-t)^2+(1-t)^3+\frac{11}{12}(1-t)^4+\frac{5}{6}(1-t)^5+s(\alpha)(1-t)^6,\\ \ln^3(t)&=-(1-t)^3-\frac{3}{2}(1-t)^4-\frac{21}{12}(1-t)^5+h(\alpha)(1-t)^6,\\ t^{\frac{t}{1-t}}&=\frac{1}{e}+\frac{1}{2e}(1-t)+\frac{7}{24e}(1-t)^2+ch(\alpha)(1-t)^3, \end{split}$$

83

where $f(t, \alpha)$, $s(\alpha)$, $h(\alpha) ch(\alpha)$ are suitable functions we obtain

$$\gamma(\alpha) = \frac{5-\alpha}{8}.$$

The proof is complete.

Competing interests

The author declares that he has no competing interests.

References

- Alzer, H. and Qiu, S. L., Inequalities for means in two variables, Arch. Math. (Basel), 80,(2003), no. 2, 201-215.
- [2] Bullen, P. S., Mitrinovič, D. S. and Vasič, P. M., Means and their inequalities, D. Reidel Publishing Co., Dordrecht, 1958.
- [3] Carlson, B. C., The logarithmic mean, Amer. Math. Monthly, 79,(1972), 615-618.
- [4] Chu, Y. M., Hou, S. W. and Xia, W.F., Optimal convex combinations bounds of centroidal and harmonic means for logarithmic and identric means, Buletin of the Iranian Mathematical Society, Vol. 39,(2013), no. 2, 259-269.
- [5] Kahling, P. and Matkowski, J., Functional equations involving the logarithmic mean, Z. Angew Math. Mech. 76,(1996), no. 7, 385-390.
- [6] Matejíčka, L., Proof of One Optimal Inequalities for Generalized Logarithmic Arithmetic and Geometric Means, J. Inequal. Appl.,(2010), Article ID 902432, 5 pages.
- [7] Matejíčka, L., Optimal convex combinations bounds of centroidal and harmonic means for weighted geometric mean of logarithmic and identric means, Journal of mathematical inequalities, (2014), Volume 8, no. 4, 939-945.
- [8] Pitinger, A. O., The logarithmic mean in n variables, Amer. Math. Monthly 92,(1985), no. 2, 99-104.
- [9] Pólya, G. and Szegő, G., Isoperimetric inequalities in mathematical physics, Princeton University Press, Princeton, 1951.
- [10] Vavro, J., Kopecký, M. and Vavro, J. jr., Nové prostriedky a metódy riešenia sústav telies III- 1.vyd., Žilina, 2007, ISBN 978-80-8075-256-9.
- [11] Seiffert, W., Problem 887, Nieuw Archief voor Wiskunde, Vol. 11, no.2, 176-176.
- [12] Shaoqin, G., Hongya, G. and Wenying, S., Optimal convex combination bounds of the centroidal and harmonic means for the seiffert mean, International Journal of Pure and Applied Mathematics, Volume 70,(2011), no. 5, 701-709.
- [13] Yang, Z.-H., New sharp bounds for logarithmic mean and identric mean, Journal of Inequalities and Applications, (2013), 116, 17 pages.

FACULTY OF INDUSTRIAL TECHNOLOGIES IN PÚCHOV, TRENČÍN UNIVERSITY OF ALEXANDER DUBČEK IN TRENČÍN, I. KRASKU 491/30, 02001 PÚCHOV, SLOVAKIA

E-mail address: ladislav.matejicka@tnuni.sk